Déterminer la forme algébrique des nombres complexes ci-dessous :
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A A < N S

20 +3 -5 —1=2i—5{+3—-1=-3i+2=2-3i

4 —3i4+7 +i—-7i=4+7-3i+i—-7i=11-29i
124+8i—8—6i=12—8+8i—6i =4+ 2i
34+i—2+i=3—-2+i4+i=1+2i
2+3)(1+)=2+2i+3i+3i2=2+5i—3=-1+5i
3—-5i—(2+4i)=3-5i—2—-i=3-2-5i—i=1—6i
(4-3)(2-3i))=8-12i—6i+9i>=8—-18i—9 = —1 — 18i
32-1)—2(142))=6-3i—2—-4i=6—-2-3i—4i=4—7i
14+4)1—-)=1—i+4i—42=1+3i+4=5+3i
2(44+1)—3Qi+1)=8+2i—6i—3=8-3+2i—6i=5—4i

Déterminer la forme algébrique des nombres complexes ci-dessous :
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A+)2=1242(M)@O) +i2=1+2i—-1=2i

1-)2=12-2)() +i?=1-2i—1=—2i

1+)3=134+3M2@) +3M))2+i3=14+3i—3—i=-2+2i
1-03=13-3(D2\) +3(1)()2-i?=1-3i—3+i=-2—2i

1+ D*=1*4+430) + 6(1)?(D)2 + 43 +i*=14+4i—6—4i+ 1
A+)*=1-6+1+4i—4i=—4

Autre méthode

(1+i)?=2i,donc: (1+D*=[A+0)?]*? =R =4{)>*=—-4

(1-0* = [(1 =D = (-20)% = 4()* = —4

(A+0)5 =1+ D2+ D)3 =2i(=2+20) = —4i + 4i% = —4 — 4i

Autre méthode

(14 0% = 15 + 5(1D)*(@) + 10(1)3()? + 10(1)2(0)3 + 5(1)(i)* + i°
(1+i)5=1+5—10—10i+5+i=1—10+5+5i—10i +i = —4 — 4i
1-0D5=1-0D%2(1-1)3==2i(=2—2i) = 4i + 4i%2 = —4 + 4i
1+i+i*+i3=14+i—-1-i=0
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1+i+i?+3+it=i*

(420 = <“§<1+i)>2=(§)2<1+i>2=§(2i>=i
(o8 =[50 T =0

E+20) = (2a+va) = (@) +vE) = 1(12 + 230 + (VD))

(§+£) =-(1+2V3i-3) =5 (- 2+2\/_1)———+£

3 2 2
B2 = @2 (420 = (2 Z) (O +20) = () - )
G+5) =-i-i=
1 ix(-i) _ 1-i 11— 1-i 1

— =—==-—=i

1+ (+)(-i)  (12-i2)  (1+1) 2 2
1 1Xx(1+i) 1+i 1+i 1+i

1 1.
1-i  (1-)(A+)  (12=i3)  (1+1) 2 2 T3l

ai= () = (30 = (@a-0) = a-or=ie

T __1
(1+i)2 2 L
11 A+ -0  _ 1+i+1-i 2 1
1-i 14 (A-D@+)  Q+d@a-) 0 2 2

1 1 (1-D) (1+)  1-i-1-i _ -2i
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1+ 1-i  (1-D@a+) @Q+)@a-i) 0 2 2



